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Life Science : ' Period:

Genetics

punhebt squane prachice

1. Let’s say that in seals, the gene for the length of the whiskers has two alleles.
The dominant allele (W) codes long whiskers and the recessive allele (w) codes
for short whiskers.

a. What is the probability of producing offspring that have short whiskers from
a cross of two long-whiskered seals, one that is homozygous dominant and
one that is heterozygous? Show your work on the punnett square.

W W .

W W W WW _&___ % long whiskers
W W (0 % short whiskers
w W W

b. If one parent-seal is a heterozygous long-whisker and the other is short-
whiskered, what is the probability that the offspring will have short

whiskers?
| W W

W WW WW ___.__5__0_. % long whiskers
W WW WW _L % short whiskers

2. In purple people eaters, one horn (H) is dominant and no horns (h) is recessive.
Complete the punnett square to show the cross of two hybrid purple people
eaters. Summarize the genotypes and phenotypes of the possible offspring.

‘ l/\ Possible genotypes of offspring:
W THH [Hh HH, Hh, hh
Possible phenotypes of offspring:
\(\ H[/\ hh 7S % oru horn
as No ho rn
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3. In cats, long hair (L) is dominant over short hair (). Complete the punnett square
to show a cross between two short-haired cats.

L L What is the probability that the
[. L L parents will produce a short-haired
( L kitten?

LI (W [0«

4. In Noombats, yellow bellies (Y) are dominant over green bellies (y).

a. Complete the punnett square to show a cross between a purebred yellow
bellied noombat and a noombat that is a hybrid for belly color. What is the
probability that the parents will have yellow bellied offspring?

y VvV
Y yy y\/ 100 % yellow bellied

( ) % green bellied
vy Yy |Yy

b. Is it possible for two yellow bellied noombats to have a green bellied child? Y(S./
Identify the genotypes of the parents and complete the cross on the

punnett square.
Yy

Y YV Yg a. Genotypes of the parents:

yg and __J %
9 y(d YY * b. Can the yellow bellied

3 parents produce a green
bellied child?

s !
c. If yes, explain how and

identify what the probability
would be.

28 % chance {pr yy =
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Worksheet

Name KE y Date

SCIENCE ACTIVITY 6

Use your textbook to help you identify the stages.
Label each cell with the stage of cell division or mitosis shown.
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Worksheet (cont.) SCIENCE ACTIVITY 1

Name

KE v Date

Heredity & Genetics Scavenger Hunt Worksheet

Use your science textbook and other resources around the room to help you complete
the following. After each answer, indicate where you found the answer (e.g. textbook
page C43, Genomics poster, etc).

20)
21)

22)
23)
24)

25)

26)

27)
28)
29)
30)

31)

32)
33)
34)
35)

What is the purpose of a Punnett square?
predict o SPr‘mtg traits
If a tall plant (TT genotype) is crossed with a dwarf plant (tt genotype), what is the
probability that the offspring plants would be tall? 100%
®

What type of plants would you have to cross to get a dwarf plant?
ybrid or other dwarg
From the “Genomics” poster, what is genomics?

sStudy of g
On the "Genomics” poster, how many chromosomes and genes does a

human have? 4 (, ohrpmoSomes
On the “Cracking the Code of Life” poster, what did Watson and Crick discover

in 95 Structure of DNAR

On the “Cracking the Code of Life” poster, when was the human genome
sequence published? 2003

What are some differences betw%en the corn and pea plants?
Shape, hight, color, Flavor
What causes these dheferences between corn and pea plants?

enes
What are the large structures shown on “The Human Genome” poster?

From “The Human Genome” poster, what are some genes of interest found on
chromosome 87 Cyi du chat diSordtr, cell division

The diameter of the nucleus of a cell is approximately 1/100,000 of a meter.The
diameter of Earth is 12,756,000 meters. Write each of these in scientific notation.
I.29sbx D7 lLox 105
How many tin;‘es bigger is Earth than a nucleus.

i

Give an example of a genetic disease.
Cyshic Eibrosis
How do people get this genetic disease?
recessive aile .
What is an example of a genetic disease that can be influenced by human

behavior and the environment?

Cancers
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SCIENCE ACTIVITY 1 Worksheet

_— y
Name _K & Date

Heredity & Genetics Scavenger Hunt Worksheet

Use your science textbook and other resources around the room to help you complete
the following. After each answer, indicate where you found the answer (e.g. textbook
page C43, Genomics poster, etc),

1) What is DNA? $enetic information

2) What are genes? Sections of DNA codinﬂ ‘be a treit
3) What are chromosomes?-ﬁghﬂs wiled sections of DNA

4) Write a sentence explaining the relationship between the words DNA, genes,

and chromosomes. 3{,\15 on ChrpomoSomes . Chromosomes made D-L DINK

— 5) On the back, draw a sketch showing where DNA is located in a cell.

6) Name three examples of genetic traits that you inherited from your parents.
eye eolor, eYy< shapL, nose shape

7) Name two traits that you acquire during your life.

8) Hlm’N 43 Sw'md'fh°w hrt‘tmfh fispring?
ow are traits passed from parent to thejr offspring? .
half parent's DNA in Sex cells Frse fo et DFFSP' 1ng

9) How many chromosomes do humans have? {{, (23 pai ,s)

10) Why is Gregor Mendel considergd to be the “Father of Genetics”?
recognized pattérns of inhentance in pea pla,nfs

11) What is the difference between a dominant tra#)and a recessive trait?
only one cdominant allele netdtd 1 Cxpress trai +
12) Whatis an example of a dominant human trait? bypwn eYts
13) What is an example of a recessive human trait? HULC 45(.5
14) What is the ratio of people in the room who are female? [ |
15) Rewrite 1:4 as a percent. 28 7.
16) What percent of the room is male? ~ §0 2
17) Is gender an inherited or acquired trait?
Sy
18) Using the Student Science Dictionary, what does DNA and RNA stand for?

deoxyribopuclic acid ; ribonuclic acid
19) What is the probability/likelihood of the spinner

landing on a shaded region? Represent this

mathematically in 3 ways. x
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